

Some properties of a Certain family of Meromorphically Univalent Functions defined by an Integral Operator

RASOUL AGHALARY

Department of Mathematics, University of Urmia, Urmia, Iran

e-mail: raghalary@yahoo.com

ABSTRACT. Making use of a linear operator, we introduce certain subclass of meromorphically univalent functions in the punctured unit disk and study its properties including some inclusion results, coefficient and distortion problems. Our result generalize many results known in the literature.

1. Introduction

Let Σ denote the class of functions $f(z)$ of the form

$$(1.1) \quad f(z) = z^{-1} + \sum_{k=1}^{\infty} a_k z^{k-1}.$$

which are analytic and univalent in the punctured unit disk

$$\mathbb{U}^* = \{z : z \in \mathbb{C} \text{ and } 0 < |z| < 1\} = \mathbb{U} \setminus \{0\}.$$

The class Σ is closed under the Hadamard product or convolution

$$(f * g)(z) = z^{-1} + \sum_{k=1}^{\infty} a_k b_k z^{k-1} = (g * f)(z),$$

where $f(z) = z^{-1} + \sum_{k=1}^{\infty} a_k z^{k-1}$, $g(z) = z^{-1} + \sum_{k=1}^{\infty} b_k z^{k-1}$.

In terms of the Pochhammer symbol (or the shifted factorial) $(\lambda)_n$ given by

$$(\lambda)_0 = 1 \quad \text{and} \quad (\lambda)_n = \lambda(\lambda + 1)\dots(\lambda + n + 1) \quad (n \in \mathbb{N} = \{1, 2, 3, \dots\}),$$

we define the function $\phi(a, c; z)$ by

$$(1.2) \quad \phi(a, c; z) = z^{-1} + \sum_{k=1}^{\infty} \frac{(a)_k}{(b)_k} z^{k-1}$$

Received January 4, 2007.

2000 Mathematics Subject Classification: 30C45, 30C80.

Key words and phrases: Hypergeometric function, differential subordination, convolution, distortion, meromorphic functions.

$$(z \in \mathbb{U}^*; a \in \mathbb{R}; c \in \mathbb{R} \setminus \mathbb{Z}_0^-; \mathbb{Z}_0^- = \{0, -1, -2, \dots\}).$$

Corresponding to the function $\phi(a, c; z)$, we introduce a linear operator $\mathbf{L}(a, c)$ which is defined by means of the following Hadamard product :

$$\mathbf{L}(a, c)f(z) := \phi(a, c; z) * f(z), \quad (f \in \Sigma).$$

The operator $\mathbf{L}(a, c)$ has been used widely on the space of analytic and univalent functions in \mathbb{U} (see, for details, [4]; see also [11],[12]) and on the space of meromorphically functions by Liu and Srivastava [8].

Furthermore corresponding to the function $\phi(a, c; z)$ defined by (1.2), we introduce a function $\phi^\lambda(a, c; z)$ given by

$$\phi(a, c; z) * \phi^\lambda(a, c; z) = \frac{1}{z(1-z)^{\lambda+1}},$$

$$(a, c \in \mathbb{R} \setminus \mathbb{Z}_0^-; \lambda > -1; z \in \mathbb{U}^*; f \in \Sigma).$$

which leads us to the following family of linear operator $\mathbf{L}^\lambda(a, c)$:

$$(1.3) \quad \mathbf{L}^\lambda(a, c)f(z) = \phi^\lambda(a, c; z) * f(z)$$

$$(a, c \in \mathbb{R} \setminus \mathbb{Z}_0^-; \lambda > -1; z \in \mathbb{U}^*; f \in \Sigma).$$

It is easily verified from the definition (1.3) that

$$(1.4) \quad z(\mathbf{L}^\lambda(a, c)f(z))' = (\lambda + 1)\mathbf{L}^{\lambda+1}(a, c)f(z) - (\lambda + 2)\mathbf{L}^\lambda(a, c)f(z),$$

$$(1.5) \quad z(\mathbf{L}^\lambda(a + 1, c)f(z))' = a\mathbf{L}^\lambda(a, c)f(z) - (a + 1)\mathbf{L}^\lambda(a + 1, c)f(z).$$

We note that a linear operator $\tau^\lambda(a, c)$, analogous to $\mathbf{L}^\lambda(a, c)$ defined here, has been studied widely on the space of analytic functions by [2], [3], [6], [7], [9].

Let M be the class of analytic functions ψ in \mathbb{U} normalized by $\psi(0) = 1$, and let N be the subclass of M consisting of that functions ψ which are univalent in \mathbb{U} and for which $\psi(\mathbb{U})$ is convex and $\Re\{\psi(z)\} > 0, (z \in \mathbb{U})$.

By using the general linear operator $\mathbf{L}^\lambda(a, c)$, we define a new subclass of Σ by

$$(1.6) \quad M^\lambda(a, c; h) := \left\{ f : f \in \Sigma \text{ and } -\frac{z(\mathbf{L}^\lambda(a, c)f)'(z)}{\mathbf{L}^\lambda(a, c)f(z)} \prec h \right\}, \quad (z \in \mathbb{U}, h \in N).$$

If we set $h(z) = \frac{1 + Az}{1 + Bz}, (-1 \leq B < A \leq 1)$, then $h(0) = 1$, h is convex in \mathbb{U} and $\Re\left\{\frac{1 + Az}{1 + Bz}\right\} > 0$. Hence for convenience when $h(z) = \frac{1 + Az}{1 + Bz}, (-1 \leq B < A \leq 1)$, set $M^\lambda(a, c; h) = M^\lambda(a, c; A, B)$.

The main object of this paper is to present a systematic investigation of the various important properties and characteristics of the general class $M^\lambda(a, c; h)$.

To prove our main results, we need the following lemma.

Lemma 1.1(Eenigenburg et al. [5]). *Let h be convex univalent in \mathbb{U} with $h(0) = 1$ and $\Re(kh(z) + \nu) > 0$, ($k, \nu \in \mathbb{C}; z \in \mathbb{U}$).*

If $q(z)$ is analytic in \mathbb{U} with $q(0) = 1$, then the subordination

$$q(z) + \frac{zq'(z)}{kq(z) + \nu} \prec h(z) \quad (z \in \mathbb{U}),$$

implies that $q(z) \prec h(z)$ ($z \in \mathbb{U}$).

2. Main results

We begin with the following :

Theorem 2.1. *Let $\lambda \geq 0$ and $a > 0$. Then*

(1) $M^{\lambda+1}(a, c; h) \subset M^\lambda(a, c; h)$ for ($h \in N$ and $\Re(h(z)) < 2 + \lambda, z \in \mathbb{U}$);

(2) $M^\lambda(a, c; h) \subset M^\lambda(a + 1, c; h)$ for ($h \in N$ and $\Re(h(z)) < 1 + a, z \in \mathbb{U}$).

Proof. First of all, we show that

$$M^{\lambda+1}(a, c; h) \subset M^\lambda(a, c; h) \text{ for } (h \in N \text{ and } \Re(h(z)) < 2 + \lambda, z \in \mathbb{U}).$$

Let $f \in M^{\lambda+1}(a, c; h)$ ($h \in N$ and $\Re(h(z)) < 2 + \lambda$) and set

$$(2.1) \quad p(z) = -\frac{z(\mathbf{L}^\lambda(a, c)f)'(z)}{\mathbf{L}^\lambda(a, c)f(z)}, \quad (z \in \mathbb{U})$$

where p is analytic in \mathbb{U} with $p(0) = 1$ and $p(z) \neq 0$ for all $z \in \mathbb{U}$. Applying (1.4) and (2.1), we obtain

$$(2.2) \quad (\lambda + 1)\frac{\mathbf{L}^{\lambda+1}(a, c)f(z)}{\mathbf{L}^\lambda(a, c)f(z)} = -p(z) + (\lambda + 2).$$

By logarithmically differentiating both sides of (2.2) and multiplying the resulting equation by z , we have

$$-\frac{z(\mathbf{L}^{\lambda+1}(a, c)f)'(z)}{\mathbf{L}^{\lambda+1}(a, c)f(z)} = p(z) + \frac{zp'(z)}{-p(z) + (\lambda + 2)} \quad (z \in \mathbb{U}).$$

Thus, by using Lemma 1.1 and (2.1), we observe that

$$p(z) \prec h(z) \quad (z \in \mathbb{U}),$$

so that $f(z) \in M^\lambda(a, c; h)$.

To prove the second part, Let $f(z) \in M^\lambda(a, c; h)$, ($h \in N$ and $\Re\{h(z)\} < 1 + a$) and put

$$(2.3) \quad p(z) = -\frac{z(\mathbf{L}^\lambda(a+1, c)f)'(z)}{\mathbf{L}^\lambda(a+1, c)f(z)},$$

where $p(z) = 1 + c_1z + c_2z^2 + \dots$ is analytic in \mathbb{U} . Then, by using (2.3) and arguments similar to those detailed above, we obtain $p(z) \prec h(z)$ in \mathbb{U} , which implies that $f \in M^\lambda(a+1, c; h)$. The proof of Theorem 2.1 is thus completed. \square

By taking $h(z) = \frac{1 + Az}{1 + Bz}$ we have the following corollary of Theorem 2.1.

Corollary 2.1. *Let $\lambda \geq 0, a > 0$ and $-1 < B < A \leq 1$. Then*

$$(1) \quad M^{\lambda+1}(a, c; A, B) \subset M^\lambda(a, c; A, B), \quad \text{if } \frac{A-B}{1+B} < 1 + \lambda;$$

$$(2) \quad M^\lambda(a, c; A, B) \subset M^\lambda(a+1, c; A, B), \quad \text{if } \frac{A-B}{1+B} < a.$$

Theorem 2.2. *Let $0 < \alpha < \mu$ and $h \in N$ be so that $\Re\{h(z)\} < \frac{\mu}{\alpha}$. If $f \in M^\lambda(a, c; h)$, then the function $g(z)$ defined by*

$$(2.4) \quad \mathbf{L}^\lambda(a, c)g(z) = \left(\frac{\mu - \alpha}{z^\mu} \int_0^z t^{\mu-1} [\mathbf{L}^\lambda(a, c)f(z)]^\alpha dt \right)^{\frac{1}{\alpha}},$$

is also in the same class $M^\lambda(a, c; h)$.

Proof. Suppose that $f \in M^\lambda(a, c; h)$ and set

$$(2.5) \quad p(z) = -\frac{z(\mathbf{L}^\lambda(a, c)g)'(z)}{\mathbf{L}^\lambda(a, c)g(z)}, \quad (z \in \mathbb{U}).$$

where $p(z)$ is analytic in \mathbb{U} with $p(0) = 1$. By logarithmically differentiating both sides of (2.4) and multiplying the resulting equation by z , we have

$$(2.6) \quad (\mu - \alpha) \left(\frac{\mathbf{L}^\lambda(a, c)f(z)}{\mathbf{L}^\lambda(a, c)g(z)} \right)^\alpha = -\alpha p(z) + \mu.$$

Then by using (2.5) and (2.6), we find after some computations that

$$-\frac{z(\mathbf{L}^\lambda(a, c)f)'(z)}{\mathbf{L}^\lambda(a, c)f(z)} = p(z) + \frac{zp'(z)}{-\alpha p(z) + \mu}.$$

Thus, by using Lemma 1.1, and (2.5), we observe that $p(z) \prec h(z)$ ($z \in \mathbb{U}$), so that $g(z) \in M^\lambda(a, c; h)$, and the proof is completed. \square

Corollary 2.2. Let $0 < \alpha < \mu$ and $-1 < B < A \leq 1$ be so that $\frac{1+A}{1+B} < \frac{\mu}{\alpha}$. If $f \in M^\lambda(a, c; A, B)$, then the function $g(z)$ defined by

$$(2.7) \quad L^\lambda(a, c)g(z) = \left(\frac{\mu - \alpha}{z^\mu} \int_0^z t^{\mu-1} [L^\lambda(a, c)f(z)]^\alpha \right)^{\frac{1}{\alpha}},$$

is also in the same class $M^\lambda(a, c; A, B)$.

Theorem 2.3. Let $\lambda > -1, -1 \leq B < A \leq 1$, and $a > 0, c > 0$. If $f(z) = z^{-1} + \sum_{n=1}^\infty a_n z^{n-1} \in M^\lambda(a, c; A, B)$, then

$$(2.8) \quad |a_n| \leq \frac{(A - B)_n (a)_n}{(c)_n (\lambda + 1)_n} \quad (n = 1, 2, 3, \dots).$$

When $B = -1$, and $A = 1 - 2\alpha$ ($0 \leq \alpha < 1$), the result is sharp for the function given by $f(z) = L(1, \lambda + 1)L(a, c) \frac{1}{z(1 - z)^{2(1-\alpha)}}$.

Proof. Suppose that $f(z) = z^{-1} + \sum_{n=1}^\infty a_n z^{n-1} \in M^\lambda(a, c; A, B)$, and put

$$(2.9) \quad -\frac{z(\mathbf{L}^\lambda(a, c)f)'(z)}{\mathbf{L}^\lambda(a, c)f(z)} := p(z),$$

where $p(z) = 1 + p_1 z + p_2 z^2 + \dots$ is analytic in \mathbb{U} and $p(z) \prec \frac{1 + Az}{1 + Bz}$. Substituting the series expansion of $f(z)$ and $p(z)$ in (2.9) and equating the coefficients of z^n on both sides of the resulting equation, we obtain

$$(2.10) \quad -nd_n = d_{n-1}p_1 + d_{n-2}p_2 + \dots + d_1 p_{n-1} + p_n \quad (n = 1, 2, 3, \dots),$$

where $p_0 := d_0 := 1$ and $d_n := \frac{(c)_n (\lambda + 1)_n}{(a)_n (1)_n} a_n, (n := 1, 2, 3, \dots)$. Using the well known coefficient estimates (see for details [1])

$$|p_n| \leq A - B, \quad (n = 1, 2, 3, \dots)$$

in (2.10), we get the required result (2.8). It is easily verified the result is sharp for the function f defined by $f(z) = \mathbf{L}(1, \lambda + 1)\mathbf{L}(a, c) \frac{1}{z(1 - z)^{2(1-\alpha)}}$. \square

Finally by making use of the well known hypergeometric function $F(a, b; c; z)$ defined by $F(a, b; c; z) = \sum_{n=0}^\infty \frac{(a)_n (b)_n}{(c)_n (1)_n} z^n$ we prove.

Theorem 2.4. Let $a > 0, c > 0, -1 \leq B < A \leq 1$ and $\lambda > -1$. If $f(z) = z^{-1} + \sum_{n=1}^\infty a_n z^{n-1} \in M^\lambda(a, c; A, B)$, then

$$(2.11) \quad |f(z)| \leq L(a, c)L(1, \lambda + 1) \left[\frac{1}{r} F(A - B, 1; 1; r) \right] \quad (|z| < r),$$

and

$$(2.12) \quad |f'(z)| \leq \frac{2}{r^2} + L(a, c)L(1, \lambda + 1) \left(\frac{1}{z} F(A - B, 1; 1; z) \right)'_{z=r}, \quad (|z| < r).$$

By considering the function $f(z) = L(a, c)L(1, \lambda + 1) \left(\frac{1}{z(1-z)^{2(1-\alpha)}} \right)'_{z=r}$, one can show that the first inequality is sharp when $A = 1 - 2\alpha, B = -1$.

Proof. Let $f(z) = z^{-1} + \sum_{n=1}^{\infty} a_n z^{n-1} \in M^\lambda(a, c; A; B)$. Then, using Theorem 2.3, we obtain that

$$\begin{aligned} |f(z)| &\leq \frac{1}{r} + \sum_{n=1}^{\infty} |a_n| |r|^{n-1} \\ &= \frac{1}{r} \left(1 + \sum_{n=1}^{\infty} |a_n| r^n \right) \\ &\leq \frac{1}{r} \left(1 + \sum_{n=1}^{\infty} \frac{(A-B)_n (a)_n}{(c)_n (\lambda+1)_n} r^n \right) \\ &= L(a, c)L(1, \lambda + 1) \left[\frac{1}{r} F(A - B, 1; 1; r) \right]. \end{aligned}$$

and that

$$\begin{aligned} |zf'(z)| &\leq \frac{1}{r} + \sum_{n=1}^{\infty} (n-1) |a_n| |r|^{n-1} \\ &= \frac{1}{r} \left(1 + \sum_{n=1}^{\infty} (n-1) |a_n| r^n \right) \\ &\leq \frac{1}{r} \left(1 + \sum_{n=1}^{\infty} (n-1) \frac{(A-B)_n (a)_n}{(c)_n (\lambda+1)_n} r^n \right) \\ &\leq \frac{1}{r} \left(1 + \sum_{n=1}^{\infty} (n+1) \frac{(A-B)_n (a)_n}{(c)_n (\lambda+1)_n} r^n - 2 \sum_{n=1}^{\infty} \frac{(A-B)_n (a)_n}{(c)_n (\lambda+1)_n} r^n \right) \\ &= \frac{2}{r} + rL(a, c) \left(L(1, \lambda + 1) \frac{1}{z} F(A - B, 1; 1; z) \right)'_{z=r}. \end{aligned}$$

By considering the function $f(z) = L(a, c)L(1, \lambda + 1) \frac{1}{z(1-z)^{2(1-2\alpha)}}$, one can show that the first inequality is sharp when $B = -1$ and $A = 1 - 2\alpha, (0 \leq \alpha < 1)$. \square

References

- [1] V. Anh, *k-fold symmetric starlike univalent functions*, Bull. Austral. Math. Soc., **32**(1985), 419-436.
- [2] N. E. Cho, O. S. Kwon, and H.M.Srivastava, *Inclusion relationships and argument properties for certain subclasses of multivalent functions associated with a family of linear operators*, J. Math. Anal. Appl., **292**(2004), 470-483.
- [3] J. H. Choi, M. Saigo and H. M. Srivastava, *Some inclusion properties of a certain integral operators*, J. Math. Anal. Appl., **276**(2002), 432-445.
- [4] B. C. Carlson and D. B. Shaffer, *Starlike and prestarlike hypergeometric functions*, SLAM. J. Math. Anal., **15**(1984), 737-745.
- [5] P. Eenigenburg, S. S. Miller, P. T. Mocanu and M. O. Reade, *On a Briot-Bouquet differential subordination*, in: General Inequalities 3 (Oberwolfach, 1981), in: Internat. Ser. Numer. Math., vol. 64, Birkhauser, Basel, 1983, pp.339-348; see also Rev. Roumaine Math. Pures Appl., **29**(1984), 567-573.
- [6] J. L. Liu, *The Noor integral operators and strongly starlike functions*, J. Math. Anal. Appl., **261**(2001) 441-447.
- [7] Yi. Ling and F. Liu, *The Choi-Saigo-Srivastava integral operator and a class of analytic functions*, Applied Mathematics and Computations, (2004), 1-9.
- [8] J. L. Liu and H. M. Srivastava, *A linear operator and associated families of meromorphically multivalent functions*, J. Math. Anal. Appl., **259**(2001) 566-581.
- [9] K. I. Noor, *On new classes of integral operators*, J. Natur. Geom., **238**(1999), 71-80.
- [10] H.Saitoh, *A linear operator and its applications of first order differential subordinations*, Math. Japon., **44** (1996) 31-38.
- [11] H. M. Srivastava and S. Owa, *Some characterization and distortion theorems involving fractional calculus, generalized hypergeometric functions, Hadamard products, linear operators, and certain subclasses of analytic functions*, Nagoya Math. J. **106**(1987) 1-28.
- [12] H. M. Srivastava and S. Owa(Eds), *Current Topics in Analytic Function Theory*, World Scientific, Singapore (1992).